

**HANKEL DETERMINANT FOR CERTAIN SUBCLASSES OF
ANALYTIC FUNCTIONS WITH RESPECT TO Q -DIFFERENCE
OPERATOR ASSOCIATED WITH GENERALIZED TELEPHONE
NUMBER**

S. O. OLATUNJI, T. PANIGRAHI

ABSTRACT. In the present paper, the second Hankel determinant for certain subclasses of analytic functions with respect to q -difference operator associated with generalized telephone number in terms of subordination relation are investigated. The early few coefficients are obtained through the series expansion and later used to determine the optimum bound of second Hankel determinant for the two subclasses of functions defined.

2010 *Mathematics Subject Classification:* Primary 30C45; Secondary 30C50, 30C80.

Keywords: Analytic function, Starlike function, Convex function, Coefficient bounds, Hankel determinant, q -difference operator.

1. INTRODUCTION

Starlike and convex functions denoted by \mathcal{S}^* and \mathcal{K} with representation $Re\left(\frac{zf'(z)}{f(z)}\right) > 0$ and $Re\left(1 + \frac{zf''(z)}{f'(z)}\right) > 0$ are the usual subclasses of A of the form

$$f(z) = z + a_2z^2 + a_3z^3 + \dots \quad (1)$$

which are analytic in the open unit disk $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$ and normalized by $f'(0) - 1 = f(0) = 0$. With slight modification and differentiation of the above two subclasses of functions, starlike with respect to symmetric points, starlike with respect to conjugate points, convex with respect to symmetric points indicated by \mathcal{T}_s^* , \mathcal{T}_c^* , \mathcal{K}_s^c with geometric quantities $Re\left(\frac{zf'(z)}{f(z)-f(-z)}\right) > 0$, $Re\left(\frac{zf'(z)}{f(z)+f(\bar{z})}\right) > 0$

and $Re \left(\frac{(zf'(z))'}{(f(z)-f(-z))'} \right) > 0$ are respectively derived which belong to the class of Caratheodory function \mathcal{P} of the form

$$p(z) = 1 + \sum_{k=1}^{\infty} p_k z^k \quad (2)$$

with the conditions that $Rep(z) > 0$ and $p(0) = 1$ (see [24, 29, 31]).

Precisely in 2013, a modification was made on starlike function by Babalola [4] to define a class $\mathcal{L}_\lambda(\beta)$ with a representation

$$Re \frac{z(f'(z))^\lambda}{f(z)} > \beta \quad (\beta \in [0, 1), \lambda \geq 1, z \in \mathbb{U}), \quad (3)$$

which are analytic in the unit disk \mathbb{U} and also satisfies the normalization conditions. In that paper some characterization properties for the above defined class were studied (see [22]).

For two functions f and g , analytic in \mathbb{U} , one will say that the function f is subordinate to g in \mathbb{U} and write

$$f(z) \prec g(z) \quad (z \in \mathbb{U}),$$

if there exists a Schwarz function $\omega(z)$ which is analytic in \mathbb{U} with

$$\omega(0) = 0 \quad \text{and} \quad |\omega(z)| < 1 \quad (z \in \mathbb{U})$$

such that

$$f(z) = g(\omega(z)).$$

By making use of subordination between two analytic functions, Ma and Minda [15] first introduced and studied the class of starlike function denoted by $\mathcal{S}^*(\phi)$ which satisfy

$$\mathcal{S}^*(\phi) := \left\{ f \in A, \frac{zf'(z)}{f(z)} \prec \phi(z) \right\} \quad (4)$$

where $\phi(z)$ is analytic and univalent in \mathbb{U} and for which $\phi(\mathbb{U})$ is convex with $\phi \in \mathcal{P}$. The coefficient bounds of the univalent functions give details information about geometric properties of functions. In the last century, a lot of findings have been done to know the upper bounds for a_2, a_3, a_4 and $|a_2 a_4 - a_3^2|$ for the function of the form (1).

Hankel determinant can be used to find the upper bounds of non-linear functional $|a_2a_4 - a_3^2|$. The determinant of the form

$$H_q(n) = \begin{vmatrix} a_n & a_{n+1} & \cdots & a_{n+q-1} \\ a_{n+1} & a_{n+2} & \cdots & a_{n+q} \\ \vdots & \vdots & \vdots & \vdots \\ a_{n+q-1} & a_{n+q} & \cdots & a_{n+2(q-1)} \end{vmatrix} \quad (n, q \in \mathbb{N} = 1, 2, 3, \dots)$$

has its source from $f \in A$ were defined by Noonan and Thomas [21] as it played an important role in the study of singularities (see [7, 8]). According to the existing literature, the determinant of univalent functions satisfy $|H_q(n)| < Kn^{(-\frac{1}{2}+\beta)q+\frac{3}{2}}$, ($n = 1, 2, \dots, q = 2, 3, \dots$) where $\beta > \frac{1}{4000}$ and K depends only on q was investigated by Pommerenke [25]. Later Hayman [12] showed that $|H_2(n)| < Jn^{\frac{1}{2}}$, ($n = 1, 2, \dots$) where J is the absolute constant for areally mean univalent functions. The work of Hayman [12] prompted the scholars of now-a-days to study the real depth of the determinant and their results are too voluminous to discuss (see [3, 17, 20, 28, 32, 33]).

Researchers have devoted much time to study q -analysis and (p, q) -analysis which are powerful tools in Geometric Functions Theory. Now-a-days the attention has been given to this analysis because of their usefulness in Mathematics and Physics such as areas like calculus, optimal control problems, multiplier transformation and so on.

Jackson ([10, 11]) has initiated the study of q -analysis. This analysis has given birth to many operators like q -Alexander, q -Bernadi, q -Ruscheweyh, q -Catas, q -hypergeometric and many others. The scholars in recent time have tested these aforementioned operators in different directions with different perspectives and the results obtained are available in literature. For details, see ([1, 2, 9, 16, 18, 19, 23, 26, 27, 30, 31]).

Jackson's q -derivative of a function $f(z) \in A$ given by (1) defined on a subset of the complex space \mathbb{C} is defined as follows:

$$\begin{aligned} D_q f(z) &= \frac{f(z) - f(qz)}{(1-q)z} \quad (0 < q < 1, z \neq 0), \\ &= 1 + \sum_{k=2}^{\infty} \frac{1-q^k}{1-q} a_k z^{k-1} \\ &= 1 + \sum_{k=2}^{\infty} [k]_q a_k z^{k-1} \end{aligned} \tag{5}$$

where $[k]_q = \frac{1-q^k}{1-q}$. Note that $D_q f(0) = f'(0)$, $D_q^2 f(z) = D_q(D_q f(z))$.

As $q \rightarrow 1^- \implies [k]_q \rightarrow k$, hence one will have

$$\lim_{q \rightarrow 1^-} D_q f(z) = f'(z) \quad (z \in \mathbb{U}). \quad (6)$$

Bednarz and Wolowiec-Musial [5] introduced a new generalization telephone numbers $T_\beta(n) = T_\beta(n-1) + \beta(n-1)T_\beta(n-2)$ with initial conditions $T_\beta(0) = T_\beta(1) = 1$ for integers $n \geq 2$ and $\beta \geq 1$ for the series

$$e^{x + \frac{\beta x^2}{2}} = \sum_{n=0}^{\infty} T_\beta(n) \frac{x^n}{n!} \quad (\beta \geq 1). \quad (7)$$

Setting parameter $\beta = 1$, one will have classical telephone numbers T_n (see [6]). $T_\beta(n)$ for some values of n are $T_\beta(0) = T_\beta(1) = 1$, $T_\beta(2) = 1 + \beta$, $T_\beta(3) = 1 + 3\beta$, $T_\beta(4) = 3\beta^2 + 6\beta + 1$, $T_\beta(5) = 15\beta^2 + 10\beta + 1$ and $T_\beta(6) = 15\beta^3 + 45\beta + 15\beta + 1$ and so on. The authors considered the function $\phi(z) = e^{z + \frac{\beta z^2}{2}}$ with its domain in the unit disk \mathbb{U} . Motivated essentially by earlier researchers (see [4, 5, 6, 9, 10, 15, 22]), we introduce two subclasses of analytic functions involving λ -pseudo $-q$ -operator associated with generalized telephone number as follows:

Definition 1: A function f of the form (1) is said to be in the class $\mathcal{ST}_q^*(\lambda, \beta)$ ($\lambda \geq 1$, $\beta \geq 1$) if it satisfy the following subordination condition:

$$\frac{z(D_q f(z))^\lambda}{f(z)} \prec \phi(z). \quad (8)$$

Definition 2: A function f of the form (1) belongs to the class $\mathcal{M}_q^*(\lambda, \beta)$ ($\lambda \geq 1$, $\beta \geq 1$) if the following subordination

$$\frac{(z(D_q f(z))^\lambda)'}{D_q f(z)} \prec \phi(z). \quad (9)$$

holds where the function $\phi(z)$ defined as above.

In this paper, we investigate the early few coefficients through the series expansion and later used to determine the optimum bound of second Hankel determinant $|H_2(2)| = |a_2 a_4 - a_3^2|$ for the two subclasses of functions defined.

For the purpose of our investigation, we need the following lemma.

Lemma 1 (Libera and Zlotkiewicz [13, 14]): Let the function $p \in \mathcal{P}$ be given by the power series (2). Then

$$2p_2 = p_1^2 + x(4 - p_1^2) \quad (10)$$

for some x , $|x| \leq 1$ and

$$4p_3 = p_1^3 + 2(4 - p_1^2)p_1x - p_1(4 - p_1^2)x^2 + 2(4 - p_1^2)(1 - |x|^2)z, \quad (11)$$

for some value of z , $|z| < 1$.

2. MAIN RESULTS

Theorem 1: Let the function $f \in A$ given by (1) belongs to the function class $\mathcal{ST}_q^*(\lambda, \beta)$ ($\lambda \geq 1$, $\beta \geq 1$). Then

$$|a_2a_4 - a_3^2| \leq \eta_1 T^2 + \eta_2 T + \frac{2}{(\lambda[3]_q - 1)^2}, \quad (12)$$

where

$$\eta_1 = \Gamma_1 - \Gamma_2 - \frac{1}{16(\lambda[2]_q - 1)(\lambda[4]_q - 1)} + \frac{1}{16(\lambda[3]_q - 1)^2}, \quad (13)$$

$$\eta_2 = 4\Gamma_2 + \frac{1}{4(\lambda[2]_q - 1)(\lambda[4]_q - 1)} - \frac{1}{16(\lambda[3]_q - 1)^2} \quad (14)$$

and

$$T = -\frac{\eta_2}{2\eta_1}. \quad (15)$$

Proof: Let $f \in \mathcal{ST}_q^*(\lambda, \beta)$. Hence by Definition 1, there exist an analytic function $\omega(z)$ with $\omega(0) = 0$ and $|\omega(z)| < 1$ in \mathbb{U} such that

$$\frac{z(D_q f(z))^\lambda}{f(z)} = \phi(\omega(z)) = e^{\omega(z) + \frac{\beta\omega^2(z)}{2}}. \quad (16)$$

Define the function $p(z)$ given by

$$p(z) = \frac{1 + \omega(z)}{1 - \omega(z)} = 1 + p_1 z + p_2 z^2 + \dots \quad (z \in \mathbb{U}). \quad (17)$$

Clearly, $p \in \mathcal{P}$. From (17), it follows that

$$\omega(z) = \frac{p(z) - 1}{p(z) + 1} = \frac{p_1}{2} z + \left(\frac{p_2}{2} - \frac{p_1^2}{4}\right) z^2 + \left(\frac{p_3}{2} - \frac{p_1 p_2}{2} + \frac{p_1^3}{8}\right) z^3 + \dots \quad (18)$$

By using (18) in the right hand side of (16) we obtain

$$\begin{aligned} \phi(\omega(z)) &= 1 + \frac{p_1 z}{2} + \frac{4p_2 + (\beta - 1)p_1^2}{8} z^2 + \frac{24p_3 + 12(\beta - 1)p_1 p_2 - (3\beta - 1)p_1^3}{48} z^3 \\ &+ \dots \end{aligned} \quad (19)$$

The left hand side of (16) shows that

$$\begin{aligned} \frac{z(D_q f(z))^\lambda}{f(z)} &= 1 + (\lambda[2]_q - 1) a_2 z + \left(\frac{((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2)}{2} a_2^2 + (\lambda[3]_q - 1) a_3 \right) z^2 \\ &+ \left(\frac{(\lambda^3 - 3\lambda^2 + 2\lambda)[2]_q^3 - (3\lambda^2 - 3\lambda)[2]_q^2 + 6\lambda[2]_q - 6}{6} a_2^3 \right. \\ &\left. + ((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2) a_2 a_3 + (\lambda[4]_q - 1) a_4 \right) z^3 + \dots \end{aligned} \quad (20)$$

Using (19) and (20) in (16) and equating the coefficients of z , z^2 and z^3 on both sides we get

$$a_2 = \frac{p_1}{2(\lambda[2]_q - 1)}, \quad (21)$$

$$a_3 = \frac{p_2}{2(\lambda[3]_q - 1)} + \frac{(\beta - 1)p_1^2}{8(\lambda[3]_q - 1)} - \frac{((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2) p_1^2}{8(\lambda[2]_q - 1)^2 (\lambda[3]_q - 1)}, \quad (22)$$

and

$$\begin{aligned} a_4 &= \frac{p_3}{2(\lambda[4]_q - 1)} + \frac{(\beta - 1)p_1 p_2}{4(\lambda[4]_q - 1)} - \frac{(3\beta - 1)p_1^3}{48(\lambda[4]_q - 1)} - \frac{((\lambda^3 - 3\lambda^2 + 2\lambda)[2]_q^3 - (3\lambda^2 - 3\lambda)[2]_q^2 + 6\lambda[2]_q - 6) p_1^3}{48(\lambda[2]_q - 1)^3 (\lambda[4]_q - 1)} \\ &- \frac{((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2) p_1 p_2}{4(\lambda[2]_q - 1)(\lambda[3]_q - 1)(\lambda[4]_q - 1)} - \frac{(\beta - 1)((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2) p_1^3}{16(\lambda[2]_q - 1)(\lambda[3]_q - 1)(\lambda[4]_q - 1)} \\ &+ \frac{((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2)((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2) p_1^3}{16(\lambda[2]_q - 1)^3 (\lambda[3]_q - 1)(\lambda[4]_q - 1)} \end{aligned} \quad (23)$$

From (21), (22) and (23), one will have

$$\begin{aligned} a_2 a_4 - a_3^2 &= \frac{p_1 p_3}{4(\lambda[2]_q - 1)(\lambda[4]_q - 1)} + \frac{(\beta - 1)p_1^2 p_2}{8(\lambda[2]_q - 1)(\lambda[4]_q - 1)} - \frac{(3\beta - 1)p_1^4}{96(\lambda[2]_q - 1)(\lambda[4]_q - 1)} \\ &- \frac{((\lambda^3 - 3\lambda^2 + 2\lambda)[2]_q^3 - (3\lambda^2 - 3\lambda)[2]_q^2 + 6\lambda[2]_q - 6) p_1^4}{96(\lambda[2]_q - 1)^4 (\lambda[4]_q - 1)} - \frac{((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2) p_1^2 p_2}{8(\lambda[2]_q - 1)^2 (\lambda[3]_q - 1)(\lambda[4]_q - 1)} \\ &+ \frac{((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2)((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2) p_1^4}{32(\lambda[2]_q - 1)^4 (\lambda[3]_q - 1)(\lambda[4]_q - 1)} \\ &- \frac{p_2^2}{4(\lambda[3]_q - 1)^2} - \frac{(\beta - 1)p_1^2 p_2}{8(\lambda[3]_q - 1)^2} + \frac{((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2) p_1^2 p_2}{8(\lambda[2]_q - 1)^2 (\lambda[3]_q - 1)^2} - \frac{(\beta - 1)^2 p_1^4}{64(\lambda[3]_q - 1)^2} \\ &+ \frac{(\beta - 1)((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2) p_1^4}{32(\lambda[2]_q - 1)^2 (\lambda[3]_q - 1)^2} - \frac{((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2)^2 p_1^4}{64(\lambda[2]_q - 1)^4 (\lambda[3]_q - 1)^2} \\ &- \frac{(\beta - 1)((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2) p_1^4}{32(\lambda[2]_q - 1)^2 (\lambda[3]_q - 1)(\lambda[4]_q - 1)} \end{aligned} \quad (24)$$

Substitute the values of p_2 and p_3 from (10) and (11) of Lemma 1 in (24), it follows that

$$\begin{aligned}
 a_2 a_4 - a_3^2 = & \left(\frac{(\beta - 1) \left((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2 \right)}{32(\lambda[2]_q - 1)^2(\lambda[3]_q - 1)^2} - \frac{\left((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2 \right)^2}{64(\lambda[2]_q - 1)^4(\lambda[3]_q - 1)^2} - \frac{(\beta - 1)^2}{64(\lambda[3]_q - 1)^2} \right. \\
 & - \frac{(\beta - 1) \left((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2 \right)}{32(\lambda[2]_q - 1)^2(\lambda[3]_q - 1)(\lambda[4]_q - 1)} + \frac{\left((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2 \right) \left((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2 \right)}{32(\lambda[2]_q - 1)^4(\lambda[3]_q - 1)(\lambda[4]_q - 1)} \\
 & - \frac{\left((\lambda^3 - 3\lambda^2 + 2\lambda)[2]_q^3 - (3\lambda^2 - 3\lambda)[2]_q^2 + 6\lambda[2]_q - 6 \right)}{96(\lambda[2]_q - 1)^4(\lambda[4]_q - 1)} - \frac{(3\beta - 1)}{96(\lambda[2]_q - 1)(\lambda[4]_q - 1)} + \frac{(\beta - 1)}{16(\lambda[2]_q - 1)(\lambda[4]_q - 1)} \\
 & - \frac{\left((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2 \right)}{16(\lambda[2]_q - 1)^2(\lambda[3]_q - 1)(\lambda[4]_q - 1)} - \frac{(\beta - 1)}{16(\lambda[3]_q - 1)^2} + \frac{\left((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2 \right)}{16(\lambda[2]_q - 1)^2(\lambda[3]_q - 1)^2} \\
 & - \frac{1}{16(\lambda[3]_q - 1)^2} + \frac{1}{16(\lambda[2]_q - 1)\lambda[4]_q - 1} \Big) p^4 + \left(\frac{(\beta - 1)}{16(\lambda[2]_q - 1)(\lambda[4]_q - 1)} - \frac{\left((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2 \right)}{16(\lambda[2]_q - 1)^2(\lambda[3]_q - 1)(\lambda[4]_q - 1)} \right. \\
 & - \frac{(\beta - 1)}{16(\lambda[3]_q - 1)^2} + \frac{\left((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2 \right)}{16(\lambda[2]_q - 1)^2(\lambda[3]_q - 1)^2} + \frac{1}{8(\lambda[2]_q - 1)(\lambda[4]_q - 1)} - \frac{1}{8(\lambda[3]_q - 1)^2} \Big) p^2 x(4 - p^2) \\
 & - \frac{p^2 x^2(4 - p^2)}{16(\lambda[2]_q - 1)(\lambda[4]_q - 1)} + \frac{p(4 - p^2)(1 - |x|^2)z}{8(\lambda[2]_q - 1)(\lambda[4]_q - 1)} - \frac{x^2(4 - p^2)}{16(\lambda[3]_q - 1)^2}
 \end{aligned} \tag{25}$$

Since $|p_1| \leq 2$ by (2), without restriction, we may assume $p_1 = p \in [0, 2]$. Then using the triangle inequality to both sides of (25) with $|x| = \rho$ to obtain

$$\begin{aligned}
 |a_2 a_4 - a_3^2| \leq & \Gamma_1 p^4 + \Gamma_2 p^2 \rho(4 - p^2) + \frac{p^2 \rho^2(4 - p^2)}{16(\lambda[2]_q - 1)(\lambda[4]_q - 1)} + \frac{p(4 - p^2)(1 - \rho^2)}{8(\lambda[2]_q - 1)(\lambda[4]_q - 1)} \\
 & + \frac{\rho^2(4 - p^2)^2}{16(\lambda[3]_q - 1)^2} = F(p, \rho)(say),
 \end{aligned}$$

where

$$\begin{aligned}
 \Gamma_1 = & \frac{(\beta - 1) \left((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2 \right)}{32(\lambda[2]_q - 1)^2(\lambda[3]_q - 1)^2} - \frac{\left((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2 \right)^2}{64(\lambda[2]_q - 1)^4(\lambda[3]_q - 1)^2} - \frac{(\beta - 1)^2}{64(\lambda[3]_q - 1)^2} \\
 & - \frac{(\beta - 1) \left((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2 \right)}{32(\lambda[2]_q - 1)^2(\lambda[3]_q - 1)(\lambda[4]_q - 1)} + \frac{\left((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2 \right) \left((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2 \right)}{32(\lambda[2]_q - 1)^4(\lambda[3]_q - 1)(\lambda[4]_q - 1)} \\
 & - \frac{\left((\lambda^3 - 3\lambda^2 + 2\lambda)[2]_q^3 - (3\lambda^2 - 3\lambda)[2]_q^2 + 6\lambda[2]_q - 6 \right)}{96(\lambda[2]_q - 1)^4(\lambda[4]_q - 1)} \\
 & - \frac{(3\beta - 1)p_1^4}{96(\lambda[2]_q - 1)(\lambda[4]_q - 1)} + \frac{(\beta - 1)}{16(\lambda[2]_q - 1)(\lambda[4]_q - 1)} - \frac{\left((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2 \right)}{16(\lambda[2]_q - 1)^2(\lambda[3]_q - 1)(\lambda[4]_q - 1)} - \frac{(\beta - 1)}{16(\lambda[3]_q - 1)^2} \\
 & + \frac{\left((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2 \right)}{16(\lambda[2]_q - 1)^2(\lambda[3]_q - 1)^2} - \frac{1}{16(\lambda[3]_q - 1)^2} + \frac{1}{16(\lambda[2]_q - 1)\lambda[4]_q - 1}.
 \end{aligned}$$

and

$$\begin{aligned}
 \Gamma_2 = & \frac{(\beta - 1)}{16(\lambda[2]_q - 1)(\lambda[4]_q - 1)} - \frac{\left((\lambda^2 - \lambda)[2]_q[3]_q - \lambda([3]_q + [2]_q) + 2 \right)}{16(\lambda[2]_q - 1)^2(\lambda[3]_q - 1)(\lambda[4]_q - 1)} - \frac{(\beta - 1)}{16(\lambda[3]_q - 1)^2} \\
 & + \frac{\left((\lambda^2 - \lambda)[2]_q^2 - 2\lambda[2]_q + 2 \right)}{16(\lambda[2]_q - 1)^2(\lambda[3]_q - 1)^2} + \frac{1}{8(\lambda[2]_q - 1)(\lambda[4]_q - 1)} - \frac{1}{8(\lambda[3]_q - 1)^2}.
 \end{aligned}$$

Now

$$\frac{\partial F}{\partial \rho} = \Gamma_2 p^2 (4 - p^2) + \frac{p^2 \rho (4 - p^2)}{8(\lambda[2]_q - 1)(\lambda[4]_q - 1)} - \frac{p(4 - p^2)\rho}{4(\lambda[2]_q - 1)(\lambda[4]_q - 1)} + \frac{\rho(4 - p^2)^2}{8(\lambda[3]_q - 1)^2}. \quad (26)$$

It is clear that $\frac{\partial F}{\partial \rho} > 0$. This implies that $F(p, \rho)$ is an increasing function on the closed interval $[0, 1]$. This implies that maximum value of $F(p, \rho)$ occurs at $\rho = 1$. Therefore,

$$\max_{0 \leq \rho \leq 1} F(p, \rho) = F(p, 1) = G(p) \text{ (say),}$$

where

$$G(p) = \Gamma_1 p^4 + \Gamma_2 p^2 (4 - p^2) + \frac{p^2 (4 - p^2)}{16(\lambda[2]_q - 1)(\lambda[4]_q - 1)} + \frac{(4 - p^2)^2}{16(\lambda[3]_q - 1)^2} = \eta_1 p^4 + \eta_2 p^2 + \frac{2}{(\lambda[3]_q - 1)^2} \quad (27)$$

where

$$\eta_1 = \Gamma_1 - \Gamma_2 - \frac{1}{16(\lambda[2]_q - 1)(\lambda[4]_q - 1)} + \frac{1}{16(\lambda[3]_q - 1)^2}$$

and

$$\eta_2 = 4\Gamma_2 + \frac{1}{4(\lambda[2]_q - 1)(\lambda[4]_q - 1)} - \frac{1}{16(\lambda[3]_q - 1)^2}$$

Now

$$G'(p) = 4\eta_1 p^3 + 2\eta_2 p \quad (28)$$

$$G''(p) = 12\eta_1 p^2 + 2\eta_2. \quad (29)$$

For optimum value of $G(p)$, consider $G'(p) = 0$. From (28), one will get

$$p^2 = -\frac{\eta_2}{2\eta_1} = \frac{-4\Gamma_2 - \frac{1}{4(\lambda[2]_q - 1)(\lambda[4]_q - 1)} + \frac{1}{16(\lambda[3]_q - 1)^2}}{2\Gamma_1 - 2\Gamma_2 - \frac{1}{8(\lambda[2]_q - 1)(\lambda[4]_q - 1)} + \frac{1}{8(\lambda[3]_q - 1)^2}} = T \quad (30)$$

Substituting the value of p^2 from (30) in (29), it can be shown that

$$G''(p) = -4\eta_2 < 0. \quad (31)$$

Therefore by the second derivative test, $G(p)$ has maximum value at p , where p^2 is given by (30). Substituting the obtained value of p^2 in the expression (27), which gives the maximum value of $G(p)$. From (26) and (27) we have

$$|a_2 a_4 - a_3^2| \leq \eta_1 T^2 + \eta_2 T + \frac{2}{(\lambda[3]_q - 1)^2}.$$

This complete the proof of the Theorem 1.

Theorem 2: Let the function $f \in A$ given by (1) belongs to the function class $\mathcal{M}_q^*(\lambda, \beta)$ ($\lambda \geq 1, \beta \geq 1$). Then

$$|a_2a_4 - a_3^2| \leq \eta_3 T_1^2 + \eta_4 T_1 + \frac{1}{(3\lambda - 1)^2 [3]_q^2}, \quad (32)$$

where

$$\eta_3 = \Gamma_3 - \Gamma_4 - \frac{1}{16(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} + \frac{1}{16(3\lambda - 1)^2 [3]_q^2}, \quad (33)$$

$$\eta_4 = 4\Gamma_4 + \frac{1}{4(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{1}{2(3\lambda - 1)^2 [3]_q^2} \quad (34)$$

and

$$T_1 = -\frac{\eta_4}{2\eta_3}. \quad (35)$$

Proof: Let the function $f \in A$ be in the class $\mathcal{M}_q^*(\lambda, \beta)$. Hence by Definition 2, there exist an analytic function $\omega(z)$ with $\omega(0) = 0$ and $|\omega(z)| < 1$ in \mathbb{U} such that

$$\frac{(z(D_q f(z))^\lambda)'}{D_q f(z)} = \phi(\omega(z)). \quad (36)$$

The left hand side of (36) yields

$$\begin{aligned} \frac{(z(D_q f(z))^\lambda)'}{D_q f(z)} &= 1 + (2\lambda - 1)[2]_q a_{a_2} + \left(\frac{3\lambda(\lambda - 1) - 4\lambda + 2}{2} [2]_q^2 a_2^2 + (3\lambda - 1)[3]_q a_3 \right) z^2 \\ &\quad \left(\frac{(4\lambda(\lambda - 1)(\lambda - 1)) + 9\lambda(\lambda - 1) + 12\lambda - 6}{6} [2]_q^3 a_2^3 + (4\lambda(\lambda - 1) - 5\lambda + 2)[2]_q [3]_q a_2 a_3 \right. \\ &\quad \left. + (4\lambda - 1)[4]_q a_4 \right) z^3 + \dots \end{aligned} \quad (37)$$

Using (19) and (37) in (36) and equating the coefficients of z, z^2 and z^3 on both sides we get

$$a_2 = \frac{p_1}{2(2\lambda - 1)[2]_q}, \quad (38)$$

$$a_3 = \frac{p_2}{2(3\lambda - 1)[3]_q} + \frac{(\beta - 1)p_1^2}{8(3\lambda - 1)[3]_q} - \frac{(3\lambda(\lambda - 1) - 4\lambda + 2)}{8(2\lambda - 1)^2(3\lambda - 1)[3]_q} p_1^2, \quad (39)$$

and

$$\begin{aligned} a_4 &= \frac{p_3}{2(4\lambda - 1)[4]_q} + \frac{(\beta - 1)p_1 p_2}{4(4\lambda - 1)[4]_q} - \frac{(3\beta - 1)p_1^3}{48(4\lambda - 1)[4]_q} - \frac{(4\lambda^3 - 21\lambda^2 + 29\lambda - 6)p_1^3}{48(2\lambda - 1)^3(4\lambda - 1)[4]_q} - \frac{(4\lambda^2 - 9\lambda + 2)p_1 p_2}{4(2\lambda - 1)(3\lambda - 1)(4\lambda - 1)[4]_q} \\ &\quad - \frac{(\beta - 1)(4\lambda^2 - 9\lambda + 2)p_1^3}{16(2\lambda - 1)(3\lambda - 1)(4\lambda - 1)[4]_q} + \frac{(4\lambda^2 - 9\lambda + 2)(3\lambda^2 - 7\lambda + 2)p_1^3}{16(2\lambda - 1)^3(3\lambda - 1)(4\lambda - 1)[4]_q}. \end{aligned} \quad (40)$$

From (38),(39) and (40), one will have

$$\begin{aligned}
 a_2 a_4 - a_3^2 &= \frac{p_1 p_3}{4(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} + \frac{(\beta - 1)p_1^2 p_2}{8(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(3\beta - 1)p_1^4}{96(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(4\lambda^3 - 21\lambda^2 + 29\lambda - 6)p_1^4}{96(2\lambda - 1)^4(4\lambda - 1)[2]_q[4]_q} \\
 &- \frac{(4\lambda^2 - 9\lambda + 2)p_1^2 p_2}{8(2\lambda - 1)^2(3\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(\beta - 1)(4\lambda^2 - 9\lambda + 2)p_1^4}{32(2\lambda - 1)^2(3\lambda - 1)(4\lambda - 1)[2]_q[4]_q} + \frac{(4\lambda^2 - 9\lambda + 2)(3\lambda^2 - 7\lambda + 2)p_1^4}{32(2\lambda - 1)^4(3\lambda - 1)(4\lambda - 1)[2]_q[4]_q} \\
 &- \frac{p_2^2}{4(3\lambda - 1)^2[3]_q^2} - \frac{(\beta - 1)p_1^2 p_2}{8(3\lambda - 1)^2[3]_q^2} + \frac{(3\lambda^2 - 7\lambda + 2)p_1^2 p_2}{8(2\lambda - 1)^2(3\lambda - 1)^2[3]_q^2} - \frac{(\beta - 1)^2 p_1^4}{64(3\lambda - 1)^2[3]_q^2} + \frac{(\beta - 1)(3\lambda^2 - 7\lambda + 2)p_1^4}{32(2\lambda - 1)^2(3\lambda - 1)^2[3]_q^2} \\
 &- \frac{(3\lambda^2 - 7\lambda + 2)p_1^4}{64(2\lambda - 1)^4(3\lambda - 1)^2[3]_q^2}
 \end{aligned} \tag{41}$$

Substitute the values of p_2 and p_3 from (10) and (11) of Lemma 1 in (41), it follows that

$$\begin{aligned}
 a_2 a_4 - a_3^2 &= \left(\frac{(\beta - 1)(3\lambda^2 - 7\lambda + 2)}{32(2\lambda - 1)^2(3\lambda - 1)^2[3]_q^2} - \frac{(3\lambda^2 - 7\lambda + 2)^2}{64(2\lambda - 1)^4(3\lambda - 1)^2[3]_q^2} - \frac{(\beta - 1)^2}{64(3\lambda - 1)^2[3]_q^2} \right. \\
 &+ \frac{(4\lambda^2 - 9\lambda + 2)(3\lambda^2 - 7\lambda + 2)}{32(2\lambda - 1)^4(3\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(\beta - 1)(4\lambda^2 - 9\lambda + 2)}{32(2\lambda - 1)^2(3\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(3\beta - 1)}{96(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} \\
 &- \frac{(4\lambda^3 - 21\lambda^2 + 29\lambda - 6)}{96(2\lambda - 1)^4(4\lambda - 1)[2]_q[4]_q} + \frac{(\beta - 1)}{16(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(4\lambda^2 - 9\lambda + 2)}{16(2\lambda - 1)^2(3\lambda - 1)(4\lambda - 1)[2]_q[4]_q} \\
 &\left. - \frac{(\beta - 1)}{16(3\lambda - 1)^2[3]_q^2} + \frac{(3\lambda^2 - 7\lambda + 2)}{16(2\lambda - 1)^2(3\lambda - 1)^2[3]_q^2} - \frac{1}{16(3\lambda - 1)^2[3]_q^2} + \frac{1}{16(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} \right) p^4 \\
 &+ \left(\frac{(\beta - 1)}{16(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(4\lambda^2 - 9\lambda + 2)}{16(2\lambda - 1)^2(3\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(\beta - 1)}{16(3\lambda - 1)^2[3]_q^2} + \frac{(3\lambda^2 - 7\lambda + 2)}{16(2\lambda - 1)^2(3\lambda - 1)^2[3]_q^2} \right. \\
 &\left. - \frac{1}{8(3\lambda - 1)^2[3]_q^2} + \frac{1}{8(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} \right) p^2 x(4 - p^2) - \frac{p^2 x^2(4 - p^2)}{16(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} + \frac{p(1 - |x^2|)(4 - p^2)z}{8(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} \\
 &- \frac{x^2(4 - p^2)}{16(3\lambda - 1)^2[3]_q^2}.
 \end{aligned} \tag{42}$$

Since $|p_1| \leq 2$ by (2), without restriction we may assume $p_1 = p \in [0, 2]$. Then using the triangle inequality to both sides of (42) with $|x| = \rho$ to obtain

$$\begin{aligned}
 |a_2 a_4 - a_3^2| &\leq \Gamma_3 p^4 + \Gamma_4 p^2 \rho(4 - p^2) + \frac{p^2 \rho^2(4 - p^2)}{16(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} + \frac{p(1 - \rho^2)(4 - p^2)}{8(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} + \frac{\rho^2(4 - p^2)}{16(3\lambda - 1)^2[3]_q^2} \\
 &= F_1(p, \rho)(say),
 \end{aligned} \tag{43}$$

where

$$\begin{aligned}
 \Gamma_3 &= \left(\frac{(\beta - 1)(3\lambda^2 - 7\lambda + 2)}{32(2\lambda - 1)^2(3\lambda - 1)^2[3]_q^2} - \frac{(3\lambda^2 - 7\lambda + 2)^2}{64(2\lambda - 1)^4(3\lambda - 1)^2[3]_q^2} - \frac{(\beta - 1)^2}{64(3\lambda - 1)^2[3]_q^2} + \frac{(4\lambda^2 - 9\lambda + 2)(3\lambda^2 - 7\lambda + 2)}{32(2\lambda - 1)^4(3\lambda - 1)(4\lambda - 1)[2]_q[4]_q} \right. \\
 &- \frac{(\beta - 1)(4\lambda^2 - 9\lambda + 2)}{32(2\lambda - 1)^2(3\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(3\beta - 1)}{96(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(4\lambda^3 - 21\lambda^2 + 29\lambda - 6)}{96(2\lambda - 1)^4(4\lambda - 1)[2]_q[4]_q} \\
 &+ \frac{(\beta - 1)}{16(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(4\lambda^2 - 9\lambda + 2)}{16(2\lambda - 1)^2(3\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(\beta - 1)}{16(3\lambda - 1)^2[3]_q^2} + \frac{(3\lambda^2 - 7\lambda + 2)}{16(2\lambda - 1)^2(3\lambda - 1)^2[3]_q^2} \\
 &\left. - \frac{1}{16(3\lambda - 1)^2[3]_q^2} + \frac{1}{16(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} \right)
 \end{aligned} \tag{44}$$

and

$$\begin{aligned}
 \Gamma_4 &= \left(\frac{(\beta - 1)}{16(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(4\lambda^2 - 9\lambda + 2)}{16(2\lambda - 1)^2(3\lambda - 1)(4\lambda - 1)[2]_q[4]_q} - \frac{(\beta - 1)}{16(3\lambda - 1)^2[3]_q^2} + \frac{(3\lambda^2 - 7\lambda + 2)}{16(2\lambda - 1)^2(3\lambda - 1)^2[3]_q^2} \right. \\
 &\left. - \frac{1}{8(3\lambda - 1)^2[3]_q^2} + \frac{1}{8(2\lambda - 1)(4\lambda - 1)[2]_q[4]_q} \right).
 \end{aligned} \tag{45}$$

Now

$$\frac{\partial F_1}{\partial \rho} = \Gamma_4 p^2 (4 - p^2) + \frac{p^2 \rho (4 - p^2)}{8(2\lambda - 1)(4\lambda - 1)[2]_q [4]_q} - \frac{p \rho (4 - p^2)}{4(2\lambda - 1)(4\lambda - 1)[2]_q [4]_q} + \frac{\rho (4 - p^2)^2}{8(3\lambda - 1)^2 [3]_q^2}. \quad (46)$$

It is clear that $\frac{\partial F_1}{\partial \rho} > 0$. This implies that $F_1(p, \rho)$ is an increasing function on the closed interval $[0, 1]$. This implies that maximum value of $F_1(p, \rho)$ occurs at $\rho = 1$. Therefore,

$$\max_{0 \leq \rho \leq 1} F_1(p, \rho) = F_1(p, 1) = G_1(p) \text{ (say)}$$

Now

$$G_1(p) = \Gamma_3 p^4 + \Gamma_4 p^2 (4 - p^2) + \frac{p^2 (4 - p^2)}{16(2\lambda - 1)(4\lambda - 1)[2]_q [4]_q} + \frac{(4 - p^2)}{16(3\lambda - 1)^2 [3]_q^2} = \eta_3 p^4 + \eta_4 p^2 + \frac{1}{(3\lambda - 1)^2 [3]_q^2}, \quad (47)$$

where

$$\eta_3 = \Gamma_3 - \Gamma_4 - \frac{1}{16(2\lambda - 1)(4\lambda - 1)[2]_q [4]_q} + \frac{1}{16(3\lambda - 1)^2 [3]_q^2}$$

and

$$\eta_4 = 4\Gamma_4 + \frac{1}{4(2\lambda - 1)(4\lambda - 1)[2]_q [4]_q} - \frac{1}{2(3\lambda - 1)^2 [3]_q^2}.$$

Now

$$G'_1(p) = 4\eta_3 p^3 + 2\eta_4 p \quad (48)$$

$$G''_1(p) = 12\eta_3 p^2 + 2\eta_4. \quad (49)$$

For optimum value of $G_1(p)$, consider $G'_1(p) = 0$. From (48), one will get

$$p^2 = -\frac{\eta_4}{2\eta_3} = \frac{-4\Gamma_4 - \frac{1}{4(2\lambda-1)(4\lambda-1)[2]_q[4]_q} + \frac{1}{2(3\lambda-1)^2[3]_q^2}}{2\Gamma_3 - 2\Gamma_4 - \frac{1}{8(2\lambda-1)(4\lambda-1)[2]_q[4]_q} + \frac{1}{16(3\lambda-1)^2[3]_q^2}} = T_1. \quad (50)$$

Substituting the value of p^2 from (50) in (49), it can be shown that

$$G''_1(p) = -4\eta_2 < 0. \quad (51)$$

Therefore by the second derivative test, $G_1(p)$ has maximum value at p , where p^2 is given by (50). Substituting the obtained value of p^2 in the expression (47), which gives the maximum value of $G_1(p)$. From (43) and (47) we have

$$|a_2 a_4 - a_3^2| \leq \eta_3 T_1^2 + \eta_4 T_1 + \frac{1}{(3\lambda - 1)^2 [3]_q^2}.$$

This complete the proof of the Theorem 2.

Concluding Remark: Making use of subordination and q -calculus, authors have introduced two subclasses of analytic functions and obtained second Hankel determinant for the above said classes. The bounds for Fekete-Szegö inequality $|a_3 - \mu a_2^2|$ for both real and complex parameters μ and third Hankel determinant can be also be investigated.

Acknowledgement: The authors are grateful to the editor and all the reviewers for their valuable comments and suggestions.

REFERENCES

- [1] S. Araci, U. Duran, M. Acikgoz and H. M. Srivatsava, *A certain (p, q) -derivative operator and associated divided differences*, J. Inequal. Appl., **301**(2016), 301–309.
- [2] A. Aral, V. Gupta and R.P. Agarwal, *Applications of q -calculus in Operator Theory*, Springer, New York, 2013.
- [3] O. Al-Refai and M. Darus, *Second Hankel determinant for a class of analytic functions defined by a fractional operator*, European J. Scientific Rese., **28**(2) (2009), 234–241.
- [4] K.O. Babalola, *On λ -pseudo-starlike functions*, J. Classical Anal., **3**(2) (2013), 137–147.
- [5] U. Bednarz and M. Wolowiec-Musial, *On a new generalization of Telephone numbers*, Turk, J. Math., **43** (2019), 1595–1603.
- [6] E. Deniz, *Sharp coefficients bounds for starlike functions associated with generalized telephone number*, Bull. Malays. Math. Sci. Soc., Springer, (2020) (18pages).
- [7] P. Dienes, *The Taylor Series*, Dovers, New York, 1957.
- [8] A. Edreii, *Sur les determinants recurrent set les singularities dune functions done por son development*, De Taylor Compos. Math., **7** (1940), 20–88.
- [9] H. Exton, *q -Hypergeometric Functions and Applications*, Chichester, UK: Ellis Horwood Limited, 1983.
- [10] F.H. Jackson, *On q -functions and a certain difference operator*, Trans. Royal Soc. Edinburgh, **46** (1908), 253–281.
- [11] F.H. Jackson, *On q -definite integrals*, Quaterly J. Pure Appl. Math., **41** (1910), 193–203.
- [12] J.W. Hayman, *The Hankel transform and some of its properties*, J. Int. Seq., **4** (2001), 1–11.
- [13] R.J. Libera and E.J. Zlotkiewicz, *Early coefficient of the inverse of a regular convex function*, Proc. Amer. Math. Soc., **85**(2) (1982), 225–230.

- [14] R.J. Libera and E.J. Zlotkiewicz, *Coefficient bounds for the inverse of a function with derivative in P* , Proc. Amer. Math. Soc., **87** (2) (1983), 251–289.
- [15] W. Ma and D. Minda, *A unified treatment of some special classes of univalent functions*, In Proceedings of the Conference on Complex Analysis, Tianjin, China, 19–23, June, 1992, Conference on Proceedings Lecture Notes for Analysis; International Press; Cambridge, MA, USA, 1994, 157–169.
- [16] S.M. Madian, *Some properties for certain class of bi-univalent functions defined by q -Catas operator with bounded boundary rotation*, AIMS Math., **7**(1) (2011) 903–914.
- [17] R. N. Mohapatra and T. Panigrahi, *Second Hankel determinant for a class of analytic functions defined by Komatu integral operator*, Rend. Mat. Appl., **41**(7)(2020), 51-58.
- [18] S. K. Mohapatra and T. Panigrahi, *Coefficient estimates for bi-univalent functions defined by (p, q) analogue of the Salagean differential operator related to the Chebyshev polynomials*, J. Math. Fund. Sci., **53**(1) (2021), 49-66.
- [19] K.I. Noor, *Some classes of analytic functions associated with q -Ruschweyh differential operator*, Facta Univ. Series Math. Inform., **3** (2018), 531–538.
- [20] K.I. Noor, S. Riaz and M.A. Noor, *On q -Bernadi integral operator*, TWMS J. Pure Appl. Math., **8** (2017), 3–11.
- [21] J.W. Noonman and D.K. Thomas, *On the second Hankel determinant of areally mean p -valent functions*, Trans Amer. Math. Soc., **223**(2)(1976), 337–346.
- [22] S.O. Olatunji, E.J. Dansu and A. Abidemi, *On a Sakaguchi type class of analytic functions associated with quasi-subordination in the space of modified sigmoid functions*, Electron. J. Math. Anal. Appl., **5** (2017), 97–105.
- [23] S.O. Olatunji and H. Dutta, *Fekete-Szego problem for certain analytic functions defined by q -derivative operator with respect to symmetric and conjugate points*, Proyecciones J. Math., **37**(4) (2018), 627–635.
- [24] S.O. Olatunji and A.T. Oladipo, *On a new subfamilies of analytic and univalent functions with negative coefficient with respect to other points*, Bull. Math. Anal. Appl., **3** (2) (2011), 159–166.
- [25] Ch. Pommerenke, *Univalent Function*, Vandenhoeck and Ruprecht, Göttingen, 1975.
- [26] S.D. Purohit and R.K. Raina, *Certain subclasses of analytic functions associated with fractional q -calculus operator*, Math. Scand., **109**(1) (2011), 55–70.
- [27] S.D. Purohit and R.K. Raina, *Fractional q -calculus and certain subclasses of univalent functions*, Mathematica, **55**(78)(1)(2013), 62–74.

[28] C. Ramanchandran, K. Dhanalakshmi and L. Vanitha, *Hankel determinant for a subclass of analytic functions associated the error functions bounded by conical regions*, Int. J. Math. Anal., **11** (2017), 571-581.

[29] C. Selvaraj and N. Vasanthi, *Subclasses of analytic function with respect to symmetric and conjugate points*, Tamkang J. Math., **42** (1) (2011), 87–94.

[30] C. Selvaraj, G. Thirupathi and E. Umadevi, *Certain classes of analytic functions involving a family of generalized differential operators*, TJMM, **9**(1)(2017), 51–61.

[31] S.A. Shah and K.I. Noor , *Study on the q -analogue of a certain family of linear operators*, Turk. J. Math., **43** (2019), 2707–2714.

[32] P. Zaprawa, *Hankel determinants for univalent functions related to the exponential function*, Symmetry, **11** (2019), Art 1211.

[33] H.Y. Zhang, H. Tang and X.M. Niu, *Third-order Hankel determinant for certain class of analytic functions related with exponential function*, Symmetry, **10** (2018), Art 501.

S. O. Olatunji
Department of Mathematical Sciences,
Federal University of Technology,
P.M.B.704, Akure, Nigeria
email: *olatunjiso@futa.edu.ng*

T. Panigrahi
Institute of Mathematics and Applications,
Andharua, Bhubaneswar-751029,
Odisha, India
email: *trailokyap6@gmail.com*